NLGA Flitches for Remanufacture All Species

Purpose Intended : Cutting Qualities

Ripped through and through to 1" stock
Minimum lengths 2' or longer

Measure to nearest whole inch

Poorest Face determines the grade

Quality Cuttings must be fine textured and clear
Rate of Growth 6 rings per inch
Slope of Grain 1in 8
Unsound Wood to be controlled for good merchandising
Wane to be controlled for good merchandising
Knots - measurement measure right up to grain distortion around knots and knot holes
Knots - Vertical Grain knots appearing on the narow face which do not show on the wide face must be considered as passing completely through the piece
Knots - Flat Grain "read the grain" to detect where the knots run out on the hidden face
Grades Factory Flitch Shop Flitch
Faces Graded Poorest Face determines Grade
Waste Permitted max 20% max 40%
Cuttings 2' or longer 2' or longer

Only in 12" or longer
7" cuttings 40% of piece must be 7' or N/A

longer

Measuring Recovery

1. [Itis usually easier to calculate waste rather than recovery
2. Calculate total lineal feet first-i.e. 8" x 10’ piece - 80 lineal feet
3. Calculate 20% waste for Factory Flitch - 80 x 20% = 16 lineal feet
4. Double that number to get waste permitted for Shop Flitch (40% Waste)
5. If pieceis 12" or longer then 40% of piece must yield 7° and longer cuttings and maximum 20% waste for Factory Flitch.
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* 50% of those cuttings must be 7’ or longer. (76.8 x 50% = 38.4)
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